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Ashrose Ryder Cup 

 
Overview   

 This is a one day event. Members who “sign-up” are divided into two (2) teams 

and compete in match play. Current member handicaps are used and full strokes are 

given to everyone. The sign-up procedure is on a first come basis since only complete 

foursomes are allowed in this competition. Later sign-ups (not completing a foursome) 

will be considered as alternates; filling in for any no shows. 

 

Teams 

 Once the sign-up is closed, the composition of the two teams (European and 

American) will be selected by handicaps. The handicap order will be from lowest to 

highest as follows: (E,A,A,E,E,A,A,E,E,…etc.) . The Board will select the two team 

captains, subject to their acceptance. Each team captain is responsible for arranging his 

two man teams.  

 

Order of Play  

 Coin toss determines which team captain starts the process. The first team captain 

selects a twosome to play in the first foursome. The other team captain then selects his 

twosome choice to compete in the first foursome. Additional foursomes are determined in 

a similar manner alternating which captain selects first. 

 

Competition 

 This is an 18 hole match play event. Within each foursome, members compete in 

pairs for the first nine holes, then individually for the second nine holes as follows: 

  

 First Nine Holes – (paired play with full handicap differentials applied once the  

  lowest handicap in the foursome is reduced to zero)    

  The single low net score for each team is compared to determine which  

  team wins .the hole.  The match is over after 9 holes. 

 

 Second Nine Holes – (individual play with handicaps) 

  The lower handicap golfers from each team compete against each other  

  and the other two compete against each other in two separate individual 9  

  hole matches. One half of the handicap difference is used. If one half the  

  handicap difference is an odd number, then ½ stroke is given on the  

  appropriate hole (no ties possible on this hole). 

   Example: Player A has 19 hcp. Player B has 12 Hcp. 

   Difference is 7 strokes; player B receives 3 and ½ strokes 

   Player B receives 3 strokes on the 3 hardest holes on the back nine  

    and ½ stroke on the 4th hardest hole  
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Scoring per Foursome 

 First Nine – the winning team receives 2 points (1 point is awarded to each 

member of the winning pair). If tied, each of the four players receives ½ point. 

 Second Nine – 2 points are awarded to the winner of each individual match. Ties 

receive 1 point each. 

 Note- the total points awarded for each foursome is always 6. 

 

Team Scoring and Awards Money 

 The winning team is the one with the most total points after considering all the 

foursomes. The winning team receives the entire cash award; the losing team receives 

zero. Each player on the winning team receives the same share of the “pot”. If the two 

teams tie, then the pot is split equally between the two teams. 


